Section 5.1 T
pg 213: 2, 7,10, 11, 12, 14

#2  Given: Pis not tne midpt of HE
LT
Prove: ﬁ; does not bisect X HTK

H P K
Either 3'—5 bisects £HIJK or :l?alocs not bisect XHIK

Assume * 3’7’ bisecks £ HIK

W L uTP L x kTP (def of biseck)
ﬁi_\]’-p (retlexive)
A RTPE AKTP (SAS)
¢ A £ > WPEpK (cpcTe)

L? But Hhs conbradicks tHhe qlvch"’h(u’ H’P¢ P
;. owr assumphion i< false and ]'p does not

biseck & HTK
2a
#+ RecT 1s a reckangie A A~ N—
T (o.2b)
a. In terms oF a and b l C
fbind the coordinates of C 24 g L
(2a. 2b)
¢ 3 ?
rY R(0,0 -
L. Does RC appear to be l/ \ E (2a,0
congruent +o eT \/\27

YES »
( Aiagonais are 2)



#10 Civen: PALAB

PA L PC
ABEAC
Prove: A—B%gA—O

— gl omm—

Either AB 2AC or AB i c
Assume: ABEAC
,w“'F'A'.LA_B so XPAB IS a b
A LPR S0 £ PAC iSa b
APABSLPAL (L43)
PAZ PA (reflexive)
APAB S APAC (5AS)
4B=4C (cpcTO)

T but Hus contraddcts the g\‘v_cn - *40
"\ the assumption i€ falce AB = AC

A

H#11  Given: TBB bisecks £ APC
X ApB is acube

Prove: AB # Bc

> C

Crher: BB 2BC or AB % BC
Agsume : AB = 66

% 3D bisecks ZABC so X ABDZ xDBC (deFof bisect)
50280 (ReHexive prop)
A ABD= ACBD ($AS)
L ADB ZaCOP (cpcTe)
X ADB and XCOB are rlghl'&‘i (oupp + =

(Y b_uf Hus conbradichs the q{vcn z(ﬂ)B is_acuke
5o the assump hon 1§ False and Ag ¥ BC



# 1 Given: 6)e)
HE IS notthe L biseckor cof EE

Gither DE = EF o ‘E$‘E_F-
Assume D—E 2 EF

<~ Draw OD and OF (2 prs determine aline)
0D 0F (Mliradn =)

T—I.E 1s the L bis. of DF (L2 pts arc e,(oundacl'a/nf from Hhe endpts
of a seq bhen they dereymine the L b
of the <eq)

La but gqiven H‘M’H—_Eic not the L bisof PF
50 e al6$u,wnp|’l0h s Fal<e and B-E ?F

#Y4  Prove that iF 2 medians ofFa A ave congruent, then the tmangle

ig ¢calene A
Given . oB s amedian .
CE T median o

78 2 C6 "
Prove: A RBC is Gealene
c

Either A RBC i< ccalene ;. A ppc ic not scalene

Pssume - AABC IS not Scalene
™ 1F It S not Ccalene then it g (S0S wl base cB
co AB = AC (tegs =) conhnued
x AcB 2 x ABC (base &'s 2)
D and & are midpts (Do and CE medians) l



3T Bl

—

ZEB (dwision prop)
2 Bc (reHexive lorop\

C
DCB = AEBC L%A9)

2 CE (cbcte)

L7 but the g\ven cays DB ¥ (E. so AABC S scalene



